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01 At2teltl 17,000 17,000 0
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01 =LHO LI 5,400 5,940 A540
O 212 =0 5,400,000 5,400
Jl23tI(sAtE) 9,960 9,744 216
201 er2 3| 5,760 4,704 1,056




A s
M HZRAZHI(sEM)
ool J1=2dHl(s&31) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,760 4,704 1,056
O SAE 28 S|
5,760,000& 5,760
202 048l 4,200 5,040 N840
01 2L AL 4,200 5,040 AB40
O JI2 =0 4,200,000& 4,200
Jl2ZHI(HHSEE) 10,800 9,072 1,728
201 2= 5,760 4,032 1,728
01 Al 22IH| 5,760 4,032 1,728
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O JlE =0l 9,360,000 9,360
Hees(s3n) 6,000,000 6,000,000 0
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